Efficiency vs dr

o o= St
I i T-ekiPh elLess
@ L5pH{{—— 174
N —_— leS‘;“‘g au>]{ E?\;s\%TOLDSAMPLE-reIfZ
1 | : uu Sy
10*1

107 1o 2 1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
)
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
10
1.2F-

Ratio

1.0

1_

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005
0

..........................................

..........................................

"
i

b
ne

Uy

Ratio
T

=
3]

=
w’.:"Tt

0 30 40 50 60 70 80
Pileup

Ofrr
o



	Contents
	Page 1


